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Sentence Connectors Questions for Canara Bank PO, 
IBPS PO Pre, IBPS SO Pre, IBPS Clerk, RRB Scale I Pre, 
SBI PO Pre, SBI Clerk and Syndicate Bank PO 

Sentence Connector Quiz 25 

Directions: You are required to match statements from columns 1 and 2 and find which of the 

following pairs of statement make sense meaningfully and grammatically. 

(1) 

Column (1)  Column (2) 

(A) The two-day event is being 
organized by the National 
Council of Teacher Education 

  (D) the time of which is not known. 

(B) These companies have strong 
human resource 

  (E) as part of silver jubilee 
celebration of its establishment 
in 1995. 

(C) That store sells a wide range of 
goods 

  (F) practices and reduce pay 
disparity. 

 

A. Only C-D     B. Only A-E 

C. Only A-E, B-F     D. A-E, B-F, C-D 

E. None of these 

 

(2). 

Column (1)  Column (2) 

(A) India has traditionally been 
known 

  (D) them, Ken is the tallest. 

(B) Trials need to be both extensive 
and 

  (E) for leadership in education and 
teacher preparation. 

(C) Between the two of   (F) exhaustive to achieve the 
required credibility. 

 

A. Only C-D     B. Only B-F 

C. Only B-F, A-E     D. Only A-E, C-D 

E. None of these 



 

 

(3). 

Column (1)  Column (2) 

(A) The World Humanitarian Day 

provides an opportunity to 

  (D) and could not find it anywhere. 

(B) Tom looked around for his 

camera 

  (E) which help sellers manage 

various aspects of selling goods 

via Amazon. 

(C) The platform brings apps and 

services from third parties, 

  (F) celebrate the spirit that inspires 

benevolent work around the 

globe. 

 

A. Only B-D     B. Only A-F 

C. Only C-E, A-F     D. Only C-E 

E. None of these 

 

(4). 

Column (1)  Column (2) 

(A) Chad President Idriss Deby has 

declared a state of emergency in 

  (D) in group chat participants being 

humiliated by false messages. 

(B) The morning sunshine is so   (E) bright that I can't look at it. 

(C) The security flaws are indeed 

serious, as they could result 

  (F) two eastern provinces after 

violent inter-communal clashes 

left dozens dead earlier this 

month. 

A. Only C-D     B. A-F, C-D, B-E 

C. Only B-E     D. Only A-F, C-D 

E. None of these 
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(5). 

Column (1)  Column (2) 

(A) Both warmer air and warmer 

water are eating away at 

Greenland,  

  (D) on the reclining chair. 

(B) Foldable handsets represent a 

significant break with the 

dominant shape that 

smartphones have  

  (E) causing it to lose billions of tons 

of ice daily in the summer. 

(C) He begged me to take the job    (F) taken since Steve Jobs 

introduced the world to the 

iPhone in 2007. 

A. Only A-E     B. Only B-F 

C. Only A-E, C-D     D. Only A-E, B-F 

E. None of these 

 

(6). 

Column (1)  Column (2) 

(A) The RBI has told banks not to 

treat failed transactions at ATMs 

  (D) messages from non-Google apps 

like WhatsApp, Slack and 

Telegram. 

(B) Google's virtual assistant is 

reportedly getting the ability to 

read 

  (E) while the thief ran away with the 

goods. 

(C) We can haggle over price later   (F) as part of five free transactions 

available to customers every 

month. 

A. Only A-F     B. Only B-D 

C. Only A-F, B-D     D. Only A-F, C-E 

E. None of these 

 



 

 

(7). 

Column (1)  Column (2) 

(A) Expressed in dollar terms, foreign 

currency assets include the effect 

of appreciation and depreciation 

  (D) lies a phenomenon known as the 

'Asian premium'. 

(B) I went fishing with him   (E) of non-US units like the euro, 

pound and yen held in the 

reserves. 

(C) At the heart of one of India's 

longest-running oil grouses 

  (F) was a convicted felon. 

 

A. Only A-E     B. Only B-F 

C. Only B-F, C-D     D. Only A-E, C-D 

E. None of these 

 

(8). 

Column (1)  Column (2) 

(A) The nine day Adi mahotsav will 

showcase traditional 

  (D) shut down the healing response. 

(B) Cortisone inhibits cell 

metabolism, further 

  (E) figures are not adding up. 

(C) A fashion model must have a 

good 

  (F) art and handicrafts and cultural 

heritage of the country. 

 

A. Only B-D     B. Only C-E 

C. Only A-F, B-D     D. Only A-F 

E. None of these 

 

 



 

 

(9). 

Column (1)  Column (2) 

(A) The aim of Village Volunteers 

System is to 

  (D) from bad to worse. 

(B) Mispronunciations, accents, 

dialects and background 

  (E) provide government services at 

doorsteps of people. 

(C) His business has gone   (F) noise can reduce the efficacy of 

the captions. 

 

A. Only A-E     B. A-E, B-F, C-D 

C. Only C-D     D. Only A-E, B-F 

E. None of these 

 

(10). 

Column (1)  Column (2) 

(A) Priority sector plays an important 

role 

  (D) slowdown is structural or 

cyclical. 

(B) The big question is whether the 

on-going 

  (E) using it when it rains. 

(C) I bought a tie for Dan   (F) in the economic development of 

the country. 

 

A. Only A-F     B. Only B-D 

C. Only A-F, C-E     D. Only A-F, B-D 

E. None of these 
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Correct answers: 

1 2 3 4 5 6 7 8 9 10 

C C C B D C D D B D 

 

Explanations: 

 

1. Checking C-D: 

That store sells a wide range of goods the time of which is not known. 

The sentence is contextually incorrect. The pair C-D is hence invalid. 

Checking A-E: 

The two-day event is being organized by the National Council of Teacher Education as 

part of silver jubilee celebration of its 

establishment in 1995. 

The above sentence is correct both grammatically and contextually. 

Checking B-F: 

These companies have strong human resource practices and reduce pay disparity. 

The above sentence too is correct both grammatically and contextually. 

Option C is hence the correct answer. 

 

2. Checking C-D: 

Between the two of them, Ken is the tallest. 

The comparative degree should have been used instead of superlative since a 

comparison ‘between’ two people has been made. ‘Taller’ should replace ‘tallest’ so as 

to make the sentence correct. The pair C-D is hence invalid. 

Checking B-F: 

Trials need to be both extensive and exhaustive to achieve the required credibility. 

The above sentence is correct both grammatically and contextually. 



 

 

Checking A-E: 

India has traditionally been known for leadership in education and teacher preparation. 

The above sentence too is correct both grammatically and contextually. Hence, the pair 

A-E is valid. 

Option C is hence the correct answer. 

 

3. Checking B-D: 

Tom looked around for his camera and could not find it anywhere.  

Here, as the sentence implies contrast in ideas, usage of the conjunction 'and' is absurd. 

Instead of 'and' 'but' should have been used. Hence, the sentence doesn't make any 

sense. The pair B-D is hence invalid. 

Checking A-F: 

The World Humanitarian Day provides an opportunity to celebrate the spirit that 

inspires benevolent work around the globe. 

The above sentence is correct both grammatically and contextually. 

Checking C-E: 

The platform brings apps and services from third parties, which help sellers manage 

various aspects of selling goods via Amazon. 

The above sentence is correct both grammatically and contextually. 

Option C is hence the correct answer. 

 

4. Checking C-D: 

The security flaws are indeed serious, as they could result in group chat participants 

being humiliated by false messages. 

The above sentence is correct both grammatically and contextually. 

Checking A-F: 

Chad President Idriss Deby has declared a state of emergency in two eastern provinces 

after violent inter-communal clashes left dozens dead earlier this month. 



 

 

The above sentence is correct both grammatically and contextually as well. 

Checking B-E: 

The morning sunshine is so bright that I can't look at it. 

The above sentence too is correct both grammatically and contextually. 

Option B is hence the correct answer. 

 

5. Checking A-E: 

Both warmer air and warmer water are eating away at Greenland, causing it to lose 

billions of tons of ice daily in the summer.    

The above sentence is correct both grammatically and contextually. 

Checking B-F: 

Foldable handsets represent a significant break with the dominant shape that 

smartphones have taken since Steve Jobs introduced the world to the iPhone in 2007. 

The above sentence is also correct both grammatically and contextually.  

Checking C-D: 

He begged me to take the job on the reclining chair. 

The above sentence is contextually incorrect rendering it meaningless. 

Option D is hence the correct answer. 

 

6. Checking A-F: 

The RBI has told banks not to treat failed transactions at ATMs as part of five free 

transactions available to customers every month. 

The above sentence is correct both grammatically and contextually. 

Checking B-D: 

Google's virtual assistant is reportedly getting the ability to read messages from non-

Google apps like WhatsApp, Slack and Telegram. 

The above sentence is correct both grammatically and contextually. 



 

 

Checking C-E: 

We can haggle over price later while the thief ran away with the goods. 

The two fragments of the sentence put together are not making sense contextually. 

Hence, pair C-E is invalid.  

Option C is hence the correct answer. 

 

7. Checking A-E: 

Expressed in dollar terms, foreign currency assets include the effect of appreciation and 

depreciation of non-US units like the euro, pound and yen held in the reserves. 

The above sentence is correct both grammatically and contextually. 

Checking B-F: 

I went fishing with him was a convicted felon. 

The above sentence does not make any sense and is incorrect both grammatically and 

contextually. 

Checking C-D: 

At the heart of one of India's longest-running oil grouses lies a phenomenon known as 

the 'Asian premium'. 

The above sentence too is correct both grammatically and contextually. Hence, the pair 

C-D is valid. 

Option D is hence the correct answer. 

 

8. Checking B-D: 

Cortisone inhibits cell metabolism, further shut down the healing response. 

The above sentence is incorrect grammatically. ‘Shutting’ should be used instead of 

‘shut’ to make it correct. 

Checking C-E: 

A fashion model must have a good figures are not adding up. 

The sentence doesn't make any sense contextually. The pair C-E is hence invalid. 



 

 

Checking A-F: 

The nine day Adi mahotsav will showcase traditional art and handicrafts and cultural 

heritage of the country. 

The above sentence is correct both grammatically and contextually. 

Option D is hence the correct answer. 

 

9. Checking A-E: 

The aim of Village Volunteers System is to provide government services at doorsteps of 

people. 

The above sentence is correct both grammatically and contextually. 

Checking B-F: 

Mispronunciations, accents, dialects and background noise can reduce the efficacy of 

the captions. 

The above sentence is correct both grammatically and contextually as well. 

Checking C-D: 

His business has gone from bad to worse. 

The above sentence too is correct both grammatically and contextually. 

Option B is hence the correct answer. 

 

10. Checking A-F: 

Priority sector plays an important role in the economic development of the country.   

The above sentence is correct both grammatically and contextually. 

Checking B-D: 

The big question is whether the on-going slowdown is structural or cyclical. 

The above sentence is correct both grammatically and contextually. 

Checking C-E: 

I bought a tie for Dan using it when it rains. 



 

 

The sentence doesn't make any sense contextually. The pair C-E is hence invalid. 

Option D is hence the correct answer. 
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